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Processes that operate with "Six Sigma Quality" over the short term are assumed to

produce long-term defect levels below __ defects per million
opportunities (DPMO).

a. 2 b. 24

c 3 d. 34

Productivity is the of production system.

a. Measurement b. Efficiency

¢. Both (A) and (B) d. None of the above

In which of the following manufacturing organisations would activity-based costing
be most relevant?

a. High product diversity and little b. High product diversity and high
automation, automation.

¢. Low product diversity and little d. Low product diversity and high
automation. automation.

What is the most likely stage in the product life cycle that a product's cumulative cash
curve is expected to go above zero?

a. Growth b. Decline

¢. Maturity d. Introduction

The market price method satisfies a key objective of transfer pricing, namely:

a. objectivity b. consistency

¢. usability d. reliability

Which one of the flowing is not true relating to learning curve?

a. Learning curves are also known as b. If the attitude of the individual is
experience curve positive, the resulting curve will not hold

good.

¢. Learning curve shows that if a task is d. If the rate of reduction is 20% than the
performed over and over than less time learning curve is referred as 80%
will be required at each iteration learning curve.

An unfavourable material price variance occurs because of:

a. Price increase in raw materials b. Price decrease in raw materials
c. Less than anticipated normal wastage in ~ d. More than anticipated normal wastage in
manufacturing process manufacturing process

Under standard cost system the cost of the product determined at the beginning of
production is its:

a. Direct cost b. Pre-determined cost

¢. Historical cost d. Actual cost

If standard hours for 100 units of output are 400 @ Rs. 2 per hour and actual hours
take are 380 @ "Rs. 2.25 per, then the labour rate variance is

a. Rs.100 (adverse) b. Rs.25 (favourable)

¢. Rs. 95 (adverse) d. Rs.120 (adverse)
Which of the following does not relate to EVA?

a. Operating profits b. Customer satisfaction
¢ Tax d. Cost of capital
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